Double Rod Slide Cylinder

B Features

1. Integration of working table and cylinder body,

suitable for precision assembly line.

2. Sensor groove design on cylinder body for

saving space.
3. Built-in Magnet.

H How to order

MCX 06 B10 SR D 1
Double rod slide cylinder |Bore size |Stroke Sensor Type Number of sensor
06:06 Black:W/O sensor Blank:Reed switch |1 pc
08:98 SR:Round type D:NPN 2 pcs
E:PNP
/ AL-07
SU:Square type
AL-16
*Sensor please referto P3-191,P3-193
B Stroke table
Bore size Stroke table (mm)
6 10, 20, 30, 40, 50
a8 10, 20, 30, 40, 50, 75
B Specifications
Bore size 26 a8
Port size M3xP0.5 M5xP0.8
Fluid Compressed air
Acting Double acting

Operating pressure range
Max operating pressure
Cushion

Sensor switch

Ambient temperature
Piston speed

1.5 ~ 7 kgf/cm?
10 kgf/cm?
Rubber
AL-07R
-5°C ~60°C
50 ~500mm/Sec.

B Dimensions

MCX6
¢ 3H9 x deep 2.5

N4
w | [=]
of| |42
€ I %

o (©]

@

Stroke A B
10 20 6
20 30 6
30 20 1"
40 28 13
50 38 17

MCX8
¢ 3H9 x deep 3.0

o
w | o
Ol | o2
e ! é

o ©)

Q

Stroke A B
10 25 9
20 25 12
30 40 13
40 50 15
50 38 20
75 50 27

24 2-M3 x P0.5 x deep 4.0
= @ D@
0.5 ‘-I @) [© 2-M2.5 x P0.45 x deep 30 5.5
18 3
¢ 3H9 x deep 2.0\ /2—M3 x P0.5 x deep 4.0
® - 7 o N
of B [& 3=
< el 1 | @
X ! T S
<l < |
= - S of o] < | o
h o @ ol % 5.5
¢ !¢ ) Y
! w
20 1Y8 2-M2.5 x P0.45 x deep 3.0 2-M3xP0.5
32
: 0
©1OBI© [
r L\ r _(:} —
4M12.5 x P0.45 x deep 3.5 12| @
(Unit: mm)
(o8 D E F G H | J K L M
1 25 20 10 17 22.5 42 4 2 41.5 48
21 35 20 10 27 32.5 52 4 2 515 58
31 20 20 7 40 42.5 62 6 3 61.5 68
43 30 30 19 50 52.5 84 6 3 83.5 90
41 24 48 25 60 62.5 100 6 4 99.5 106
30 2-M4 x P0.7 x deep 6.0
N @ @@
.05 - 2-M3 x P0.5 x deep 40 6.5
22 4
¢ 3H9 x deep 3.({ /2-M3 x P0.5 x deep 4.0
© o~ A/ ] z ~
ol b |4 S
E{ N AR - Tl e
| < | T
2. - g of ! |e © 3 ~ ] o
= | o - %
o = © 6.5
| T8 ot s
| - i =
24 4% 2-M3 x P0.5 x deep 4.0 2-M5xP0.8
n
Do@e 6
4-M3 x PO.5 x deep 4.0 12]  of
(Unit: mm)
C D E F G H H1 | J K L M
17 28 20 13 19.5 235 — 49 4 2 48 .5 56
12 30 30 8.5 29 335 - 54 4 2 53.5 61
33 20 20 9.5 39 43.5 — 65 4 3 64.5 72
43 28 28 10.5 56 53.5 — 83 4 & 82.5 90
43 23 46 24.5 60 63.5 825 101 6 4 100.5 108
83 28 56 38.5 96 88.5 1325 151 6 5 150.5 158

440NN

oYl nor

99



Compact Slide Cylinder

M Features

1. High precise linear guiding rail provides low

friction and quick response.

2. Integration of guiding rail and cylinder body for

space saving.

3. Position port on slide table ensures high precise

placement for repeated mounting.

4. Left or right slide type for selection.
5. Stroke adjustable screw and shock absorber are

optional accessories.

Bl How to order

MCFR 10 B50 A SR D 1
: : Number
Type Bore size |Stroke Cushion Sensor Type of sensor
MCFR:Right slide [10:@310 210:30,50 Blank:W/O cushion Black :W/O sensor |Blank :Reed switch |1 pc
MCFL :Left slide |16:016 216:30,50,75,100 | A:Stroke adjuster on both ends |SR :Round type D:NPN 2 pcs
AS:Stroke adjuster on front end E:PNP

AF :Stroke adjuster on rear end

B:Shock absorber on both ends
BS:Shock absorber on front end
BF :Shock absorber on rear end

e

AL-07

SU :Square type

AL-16

*Sensor please refer to P3-191,P3-193
*Please refer to P6-22 "SHOCK ABSORBER" for specification of shock absorber @10:DA0806-NC, @16:DA1008-NC

B Specifications

Bore size
Port size
Fluid
Acting
Operating pressure range
Proof pressure
Stroke adjustable range
Magnet
Cushion
Ambient temperature
Piston speed mm/Sec

210 216
M5xP0.8
Compressed air (lubrication free)
Double acting
1.5 ~ 9 kgf/cm?
10 kgf/cm?
0~10mm
Built-in
Rubber
-5°C ~60°C(Unfrozen)
50 ~ 500

B Dimensions

MCFR(L)10
22 $5 *0.04 23 4-$4.2Thru 4-M5x0.8
21 0.0 depth=3 A B ¢ 8 Counter port, depth4.5
(Positioning port) N\
U AR == /7~ N\
L e . !
1 \7 :/l -t -
©O) .
-0
A=t—-4--- g IO g -
| | <1
Ll s o) . © © .
' ©© S - - 33
| | 0 |
©  ————— t e
Lé ) 2.M4x0.7 6-M4x0.7
6 depth=8 s depth=12
10 4-M4x0.7 10
1.8 Stroke+46
) = : ooy
T H—1
D L N -
I ——
P — _\_ -
2-M5x0.8
1 Stroke+24 (Ventilation port)
14 c $5 100* depth=3
‘ (Positioning port)
1 o \ T o AN
H ¢/ \\¢/
o ! o o o S
= =
H / A i} / 9
e I T PR 11 R s
man ) D : (R ——
5+g.g4
+0.
unit: mm
D
Stroke A B C D

30
50

22 32 48 38
32 42 68 48

XON

ol Nor

29



HDimensions

Compact Slide Cylinder

MCFR(L)16
23 1-$4.2 Thru
A B ¢ 8 Counter port, depth4.5
$5 398% depth=a5 50
(Positioning port)\,\"f““‘l‘r . ‘: ______ MR -‘ﬁ oo T
=+ — 1 ! e
[ N |- i ! ! eed ;t—_—_—__L—J
<
@) 0_0_©
| | I © 1
8| Oy T 8
60|
— —90 - -0 Q-9 s
~ | X ¥ 1}
o~
’. _____________________ H -M5x0.8
2-M4x0.7 depth=14
8 depth=8 5
J 2-M5x0.8
13 10 T . A
Stroke=100
6-M5x0.8 1.8 Stroke+53
a %"“. 1
a 4@ ~ @
2-M5x0.8
15.5 Stroke+22 (Ventilation port)
14 C
D E
$5 :8:34 depth=4.5
_ - (Positioning port)
N
~
i Lo
T !
A ___1]
5 508
+0.1
G

Stroke A B C

30 30 30 55
50 50 30 75
75 50 55 100
100 50 80 125

D E
32 32
45 40

1 -M5x0.8

41.5
IS
64
76.5

o OO O o I

unit: mm

© o b~ b

© 0O NOO O B WON

-
o

—
—

B Material of parts

19
= i
s @@ ® D 7
= & © 4
B o O
+ & D-
2 i "
e &z 7]
= A N 7
L AN
J:?Zﬁ%ﬂ//] //%L ?i "
14 4 5 12 11 13 9 8
Description Material . No. Description
Body Aluminum alloy 1 12 Cushion pad
Slide table Aluminum alloy 1 13 U-Piston seal
Front plate Aluminum alloy 1 14 Rod seal
Front cover Aluminum alloy 1 15 O-ring 1
Piston rod S45C+Cr 1 16 O-ring 2
Front plate cushion pad NBR 1 17 C type clip
Mini linear rail Bearing steel 1 18 Hex. Fixing bolt 1
Rear cover Aluminum alloy 1 19  Hex. Fixing bolt 2
Piston A Aluminum alloy 1 20 Hex. Fixing bolt 3
Magnet Rubber 1 21 Wear ring
Piston B Aluminum alloy 1

Material

NBR
NBR
NBR
NBR
NBR
Fe+Ni
Fe+Ni
Fe+Ni
Fe+Ni
Plastic

odl | Wor

29

= 00 B 2NN,



Compact Slide Cylinder

B Formula for allowable static load

. MpX1000 _ MyX1000 _ Mrx1000
Pitch moment fp = “(L1+A) Yaw moment Fy = T(L1+A) Roll moment Fr= L2
Fy
Fp '
u [ [e] )
{ c'DO _ele |o
+t—-=-@®-—-—}—-— - © o
= ® © PN E
L1 ‘ A |- ey A _
L1 A
L1: Distance between body and load point
N-m(kgf-m) A :Distance between body and the center of rail
Bore size(mm) ¢10 %16 L2: Distance between loading point (Fr) and the
Mp Pitch momenttorque 16.67(1.63) 16.67(1.63) center of rail
My Yam momenttorque  16.67(1.63) 16.67(1.63)  @Note:
Do not exceed load limit, or the accuracy of guiding rail will
Mr Roll moment torque 14.7(1.44) 14.7(1.44) be affected.Avoid impact with great force on the cylinder.
The inertia load must be within 1/10 of allowable static load.
Hl Mounting example
Top face mounting Bottom face mounting

- |- —-—]--— |L 77777 JI ,,,,,, IL,
~[C i
t
1
B Installation example of cushion device
MCFR type MCFL type

XON

odl | Wor

29



Bl Features

1. Hard anodized aluminum barrel provides corrosion and wear resistance as well as long life.

Guide Jig Cylinder

2. Compact size and space saving.

3. Strict quality control ensures the product in stability and excellent performance.

4. Simple maintenance and installation.
5. Different bore sizes and strokes for selection.
6. Various sensor switches are available.

7. Possess excellent bending and twisting resistance for heavier side load. K&

B How to order

osediitor
SRS B

HIONIAD OIF

JAM 32 B50 H M SR D 1
. Number
Type Bore size | Stroke |Rod thread Magnet Sensor Type of sensor
JQM:Standard 12:012 Blank:Female thread |Blank :W/O magnet | Blank:W/O sensor | Blank :Reed switch |1 pc
double acting (16:316 H:Male thread M :W/I magnet SS:Square type  |D:NPN 2 pcs

20:220 E:PNP

25:025 =

32:032 AL-11

40:0940 SR:Round type _

50:050 //

63:063 AL-07

SU:Square type

AL-16

1. The body length of JQ-M cylinder (Magnetic type) is 10mm longer than JQ cylinder (Non-Magnetic type).

*Sensor please referto P3-191~P3-193

2. Stainless mounting boits is sqggested for the installation of JQ-M cylinder (Magnetic type).

M Stroke table

Boze size Acting

Double acting
(W/O magnet)
Double acting
(W/I magnet)
Double acting
(W/O magnet)
Double acting
(W/I magnet)

Double acting
(W/O magnet)
Double acting
(W/I magnet)

212 ~ 916

220 ~ @40

250 ~ 963

% Please contact out sales for non-standard stroke.

Bl Specifications
Bore size
Port size

Fluid
Acting

Operating pressure range

Max operating pressure

Barrel material
Magnet

Ambient temperature
Piston speed

Double acting mm/Sec.
Single acting mm/Sec.

Non-rotating accuracy

Stroke table (mm) Mzx.Stroke (mm)

5,10,15,20,25,30,35,40,45,50,55,60 60
5,10,15,20,25,30,35,40,45,50 50
5,10,15,20,25,30,35,40,45,50,55,60,65,70,75,80,85,90,95,100,110 110
5,10,15,20,25,30,35,40,45,50,55,60,65,70,75,80,85,90,95,100 100
5,10,15,20,25,30,35,40,45,50,55,60,65,70,75,80,85,90,95,100,110,120 120
5,10,15,20,25,30,35,40,45,50,55,60,65,70,75,80,85,90,95,100,110 110
212 216 220 225 232 240 250 263
M5xP0.8 1/8" 1/4"
Compressed air
Double acting
1.0 ~ 9 kgf/cm?
9.5 kgf/cm?
Aluminum alloy
Option
Cushion plate
-5°C ~60°C
50 ~700mm/Sec.
50 ~500
+0.2° +0.1°

B Dimensions
JQM Standard double acting (912 ~@25)

Bore size

212
216
220
@25

@32

240

250

263

Bore size
212
216
220
@25
232
240
250
263

Stroke

5~30
5~30
5~50
5z050)
5
10~50
75~100
510
75~100
5~50
75~100
10~50
75~100

G
24
28
34
38
43
50
62
74

A
26.5
28
32
35.5

40

46.5
56.5

50.7

56
66

H
10+0.1
14 +0.1
17 £0.1
22+0.1
28+0.2
33+0.2
42+0.2
50=+0.2

2-J

2-gK

2x2-9ON
2x2-90
Countersink

Without magnet

P
M5xP0.8
M5xP0.8
M5xP0.8
M5xP0.8

F
5
188 | BB
195 5.2
2250 55
75
29.5
39.5 .
30.7 10.5
10.5
| J
14.9 M3xP0.5
20 MB3xP0.5
26 M4xP0.7
30 M5xP0.8
38  M5xP0.8
46 M5xP0.8
58 MG6xP1.0
69 M6xP1.0

Rc1/8

Rc1/8
Rc1/4

Rc1/4

K
@3 +8.2
®3 +g.2
@473
@53
@59’
@5
®6 +8.2
@6 +g.2

L
3.5

4.5

0 o0 ~N~NO;

Q
7.5

o ©om

10.5

1"

10.5

15

2x2-@N
2x2-90
Countersink

A
36.5

42
45.5

50

56.5

60.7

66

15.5
20
25.5

A + Stroke
L B + Stroke
R1 4-R
[— /_
01
il
—u:LL{[ 7T 2-P
[=] M . a
S “Z N4
—
Sl el £
A + Stroke
L B + Stroke
R1 | 4-R
o1
1
o JanWand
S NN/
ReRpicy -
W/I magnet c
B F P Q
27 5 M5xP0.8 7.5 6
28.5 515 M5xP0.8 8 6
29.5 5.2 M5xP0.8 9 8
32.5 85 M5xP0.8 1 8
33 7.5 Rc1/8 10.5 10
39.5 8 Rc1/8 1 10
40.7 10.5 Rc1/4 10.5 12
46 10.5 Rc1/4 15 12
N (0] R R1
3.5 6.5 M4xP0.7 7
315) 6.5 M4xP0.7 7
5.15 a9 M6xP1.0 17
5.15 @9 M6xP1.0 17
5.15 a9 M6xP1.0 17
5.15 a9 M6xP1.0 17
6.8 a1 M8xP1.25 22
8.6 214 M10xP1.5 28.5

(Unit: mm)

D E

6 25

8 29

10 36

12 40

16 45

16 52

20 64

20 77

S w
71 -
9.9 -
12 -
15.6 -

19.8 49.5
23.3 57
29.7 71
35.4 84

XON

A4

ol

29



Three Rod Cylinder

B Features

1. Hard anodized aluminum body provides
corrosion and wear resistance.

. Simplified design.

. Compact size and space saving.

. Non-rotated.

. Low deviation.

. Built-in magnet.

o 0o W N

B How to order

TRC M 12 B50 SR D 1
Type Guide rod Bore size Stroke |Sensor Type glfusrgnbsg:
Three rod cylinder |M:Bush bearing [12:012 Black:W/O sensor |Blank:Reed switch |1 pc
L :Linear bearing (16:016 SR:Round type D:NPN 2 pcs
20:020 _ E:PNP
25:025 4
32:032
40:040
50:050
63:063 AL-07
*Rod: M-Carbon steel(Bush bearing) *Sensor please refer to P3-191
L-Bearing steel(Linear bearing)
Bl Specifications
Bore size 212 316 320 325 232 340 50 263
Port size M5xP0.8 1/8" 1/4"
Fluid Compressed air
Acting Double acting

Operating pressure range
Max operating pressure
Lubrication

Barrel material

Magnet

Ambient temperature
Piston speed mm/Sec

1.5 ~ 9.5 kgficm?
10 kgf/cm?
Not required
Aluminum alloy
Built-in
0°C ~60°C
100 ~ 500

B Dimensions

c1. c2
o 43 D1 Y  4c3 Y 4-F3
y 1
PN
= -
- [0 ¥ &
8|28 @  22{f 3
[-— —6{—{ L @ ¢{\ @ i
e O]
o Yo - \
E1‘ \x L 2| ¥[8
o H1 T — i E g
R G1 R G3_| Y B1+Stroke S | 62
A+Stroke (S) |
DX Hr . L1 2.p
O\ ox
ge o1+ N
- — - ©
_Jr_ |
777777 X
(Unit: mm)
Bore size A B1 B2 B3 C1 c2 C3 D1
Over 30ST Over 31ST Over 30ST Over 31ST
212 42 29 13 58 5 20 40 M4 Countersink, Rear M5x0.8Px10dp 15 25
216 46 38 15 64 5) 24 44 M4 Countersink, Rear M5x0.8Px10dp 17 27
220 53 37 18 83 17 24 44 M5 Countersink, Rear M6x1.0Px12dp 29 39
325 535 37.5 21 93 17 24 44 M5 Countersink, Rear M6x1.0Px12dp 29 39
@32 59.5 37.5 24 112 21 24 48 M6 Countersink, Rear M8x1.25Px16dp 33 45
240 66 44 27 120 22 24 48 M6 Countersink, Rear M8x1.25Px16dp 34 46
350 72 44 32 148 24 24 48 M8 Countersink, Rear M10x1.5Px20dp 36 48
263 77 49 39 162 24 28 52 M8 Countersink, Rear M10x1.5Px20dp 38 50
Bore size D2 E1 E2 E3 F1 F2 F3 G1 G2 G3 H1 H2 H3
212 23 10 8 18 9 50 M4x0.7Px10dp 22 56 7 14 48 M4x0.7P
216 24 10.5 8.5 17 11 56 M5x0.8Px12dp 25 62 7 16 54 M5x0.8P
320 28 11.5 9 25 12 72 M5x0.8Px13dp 30 81 8 18 70 M5x0.8P
325 34 11.5 10 28 15 82 M6x1.0Px15dp 38 91 9 26 78 M6x1P
332 42 12 11 32 17 98 M8x1.25Px20dp 44 110 10 30 96 M8x1.25P
240 50 15 11 39.5 20 106 M8x1.25Px20dp 44 118 10 30 104 M8x1.25P
350 66 15 12 47 23 130 M10x1.5Px22dp 60 146 12 40 130 M10x1.5P
263 80 155 135 58 29 142 M10x1.5Px22dp 70 158 12 50 130 M10x1.5P
S(Bush bearing M) S(Linear bearing L)
Bore size J K Kl K2 L1 L3 P Q X
Over 30ST Over 31ST Over 30ST Over 31ST
212 6 41 6 8 10 8.5 M5 1 2 3 0 13 0 13
216 6 46 8 10 10.5 10.5 M5 1 2.5 3 0 19 0 19
320 8 54 10 12 1.5 115 G1/8 1 3 3 0 27 0 27
@25 7 64 12 16 11.5 14 G1/8 1 2 4 0 28.5 0 28.5
332 12 78 16 20 12 16.5 G 1/8 1 2 4 18.5 42.5 5.5 42.5
240 12 86 16 20 15 18 G1/8 1 5 4 9 50 13.5 50
350 16 110 20 25 15 215 G1/4 1 2 5 16.5 55.5 19.5 55.5
263 16 124 20 25 15.5 28 G1/4 2 4 5 11.5 50.5 14.5 50.5

XON

A4

Nor



Three Rod Cylinder

B Material of parts M Stroke table

14 15 12 02 17 05 10 01 19 20 18
Model Standard stroke (mm)
TRCL _ ode 10 20 25 30 40 50 75 100 125 150 175 200
Linear bearing type L TRCL12/TRCM12 ®© © o e o o o o
_) ___________________________ 3 TRCL16 / TRCM16 ® ° ° ° ° ° ° °
—Tr———
= mﬁ{§>’ - TRCL20/TRCM20 ©¢ o o e o o o o
‘E[ _'f*_”_ ____________ TRCL25/TRCM25 © ° o ° ° ° ° °
R TRCL32 / TRCM32 ° ° ° ° ° ° ° °
:=4 5o :éFii' TRCL40 / TRCM40 ° ° ° ° ° ° ° °
LA 0
. E ______________________________ | TRCL50/ TRCM50 o ° ° ° ° ° ° °
L] T——1] TRCL63 / TRCM63 ° ° ° ° ° ° ° °

TRCM
Bush bearing type

coooslcncn-hwn_\cz,

- =
- O

12

Description
Barrel
Front cover
Front plate
Piston rod
Guide rod
Bush bearing
Rear cover
Piston
Magnet holder
Linear bearing
O-ring
Rod packing

03 06 13 04 21

14 15 12 17 05 23 02 01

f
i

04 08 16 09 07

19 20 18

03 06 13 11 22 21 04 08 16 09 07

Material
Aluminum alloy
Aluminum alloy

Ferroalloy
Carbon steel
Carbon steel/Bearing steel
Alloy steel
Aluminum alloy
Aluminum alloy
Aluminum alloy
Bearing steel
NBR
NBR

Qty.

2

1
1
1
1
2
1
1
1
1
(4
2
1

13
14
15
16
17
18
19
20
21

23

No.

Description
Snapring
Fixing screw
Fixing screw
Piston O-ring
Snapring
Snap ring
Piston packing
Magnet
Cushion plate
Bush bearing

Bush bearing support

Material
Spring steel
Alloy steel
Alloy steel
NBR
Spring steel
Spring steel
NBR
Ferrite mangnet
NBR
Alloy steel
Aluminum alloy

Qty.
1
1
2
1
2
1
1
1
2
2(4)
2(4)

Il Mounting example

Bottom vertical mounting

!

|
I
;
;
g |
;
|
;

' I
Iﬂl Upward

Hl Sensor mounting example

Bottom face mounting

___3.

|J_:!_]| Upward

Top face mounting

H Dowuward

—

XON

440NN

Wor

29



M Features

Guide Cylinder

1. Integrate the guide rod with ISO15552 (832~&100)
and 1SO6432 (320, @25) cylinders for action.
2. Adjustable cushion for ISO6432 ( @20, @25) cylinder
is optional for more stable movement.

3. Cylinder body connected with guide rod by floating

joint, without friction in operation.
4. Non rotating guide rod with high accuracy.

5. The linear bearing is applicable to high speed acting

and light loads.

6. The bush bearing is applicable to low speed acting

and heavy loads.
7. Sensor switch and shock absorber are optional

accessories.

H How to order

GC M 20 B50 F SF D 1
Guide cylinder |Guide rod Bore size | Stroke Shock absorber Sensor Type (l;lfugnetr)g;)r
M:Bush bearing [20:@20 Blank :W/O shock absorber | Blank:W/O sensor | Blank :Reed switch|1 pc
L :Linear bearing|25:@325 F :Assembly in front SF:LED in top D:NPN 2 pcs
32:932 B:Assembly in rear (@20, 225) E:PNP
40:340 FB :Assembly in front & rear
. R:End plate (for @20, @25
50:250 plate (for ) AL-20
63:063 ST:LED on top
80:080 (@20, @25)
100:2100 ”
> o
AL-21
SM:Round type
(@32 ~ @100)
AL-76

*Please refer to page 6-21 "SHOCK ABSORBER" for specifications of shock absorber.
*Body length will be increased with 25mm for assembling cushion in rear for @32~@63.
*Body length will be increased with 50mm for assembling cushion in rear for @80~&100.

Bl Specifications

Bore size

Port size
Fluid

Acting

Operating pressure range

Max operating
Lubrication
Barrel material
Magnet

pressure

Ambient temperature
Piston speed mm/Sec

920 925
1/8"
SUS 304

@32

240
114"

*Sensor please refer to P3-189, P3-190, P3-195

@50 @63 @80

3/8"

2100
172"

Compressed air
Double acting
2 ~ 9 kgflcm?
10.5 kgf/cm?
Not required

Aluminum alloy

Built-in

0°C ~60°C
100 ~500mm/Sec.

BEDimensions
@20, @25

®
v
=
3
<

] Q © i
o - e ==
- o oY ]
| k| 325 !\2x4-M
c
2-46 3. 2-V1 |2
\ il 3=
] K f K
A*Ak,i,vg, ,L;g,ifa% 777777777777777
2-46 |0
pa Y
<|w| <# o ez 1 ‘—EM o] -
&
A*Akfifﬁfifﬁfifa% 77777777777 PR—
L i i 7L I
2-Q
12 ‘ ‘ w Cylinder port
; L +Stroke
L1 +Stroke |
78
R: End plate 58
34 610 12
2 J}j g <
(Unit: mm)
Bore size A A1 B B1 C E E1 F F1 G H K L L1
320 82 78 38 34 100 68 20 40 26 19 38 35 135 150
@25 82 78 38 34 100 68 20 40 26 19 38 35 135 155
Bore size M N R S \" V1 W
220 M6, Depth 11 M5 58 10 5.5, 39.5 Depth 5.4 6.5, 310.5 Depth 6.5 41.5
@25 M6, Depth 11 M5 58 10 @5.5, @9.5 Depth 5.4 6.5, @10.5 Depth 6.5 41.5

XON

A4

Nor

ol



Guide Cylinder

B Dimensions

B Dimensions FB: Assembly in front & rear
¢ 32~ ¢ 100
:: 4-K3 B+Stroke A c Shock Absorber In Front(F)
| ﬁ 5_4'/‘ Stroke Adjuster
e [ ] 12 B—= ,
Pes I T
o @A) a
N D
2 | v _ B Fei=T 1
N4 - @ L J
91 33 =z 38 f& B Lol
o |
T g @ ¢ G &
- T PR R (i W - O
i Ot R 1 1 ® i
ol b o 3E B o ——I1
4-H3 / K1 K1 2-D3 — 2= _— -
G3 Cylinder port = E
H1 | H1 \ c1
! Shock Absorber In Rear(B)
A+Stroke
4-E4
— 7711( @
i A: Front plate
2 B | ]
A
f\\‘l H‘l
=E—0 46‘3 H2 H2 4-H3
F1_| F2 N
\ \ 4-F4 K2 K2
Eﬂ E2 ‘ | 1
| | s T T
— 1 -? Jp—
% solee M .
— ! [R——— [R——— - _I [R——— — L - - ©
(Unit: mm) ! ’ _! @ !_ ’ - m
mdl o o o
Bre A B C1 C2 C3 D1 D2 D3 E1 E2 E3 E4 F1 F2 F3 @i_//eT __€ i
¢$32 179 152 120 120 56 45 55 ¢85-¢ 14x8.5Depth 20 80 40 M6xP1.0x15Depth 30 60 88 4-K3 ‘ Ha | G3
¢40 190 152 120 120 56 45 55 ¢85-¢ 14x6Depth 20 80 40 M6xP1.0x15Depth 30 60 88 B1 T
¢50 220 200 160 160 78 65 80 ¢105-417.5x10.5Depth 30 100 50 M8xP1.25x24Depth 40 80 120
$63 236 200 160 160 78 65 80 ¢ 10.5-¢ 17.5x7Depth 30 100 50 MB8xP1.25x24Depth 40 80 120
¢80 280 270 220 220 115 90 120 ¢ 12.5- 4 20x13Depth 40 140 80 M10xP1.5x20Depth 60 100 170
100 290 270 220 220 115 90 120 ¢ 12.5- ¢ 20x12Depth 40 140 80 M10xP1.5x20Depth 60 100 170 (Unit mm)
B F4 G1 G2 G3 HI H2 H3 KI K2 K3 N1 N2 P Q Bore Bt B2 B3 G3 H1 H2 H3 He K2 K3
¢ 32 M6xP1.0x10Depth 52 116 15 175 50 M8xP1.25 125 275 M6xP1.0 16 20 10 G1/8 ¢ 32 142 26 52 15 17.5 50 M8xP1.25 58 27.5 M6xP1.0
¢ 40 M6xP1.0x10Depth 52 116 15 17.5 50 M8xP1.25 125 27.5 M6xP1.0 16 20 10 G1/4 ¢ 40 142 26 52 15 17.5 50 M8xP1.25 58 27.5 M6xP1.0
¢50 M8xP1.25x18.5Depth 74 156 20 25 65 M10xP1.5 20 40 M8xP1.25 20 25 10 G1/4 ¢ 50 190 37 74 20 25 65 M10xP1.5 78 40 M8xP1.25
¢ 63 M8xP1.25x18.5Depth 74 156 20 25 65 M10xP1.5 20 40 M8xP125 20 25 10 G3/8 %63 190 37 74 20 25 65 M10xP1.5 78 40 M8xP1.25
80 M10xP1.5x20Depth 110 216 25 40 90 M12xP1.75 30 55 M10xP15 25 30 10 G3/8 ¢ 80 258 55 110 25 40 90 M12xP1.75 108 55 M10xP1.5

$100 M10xP1.5x20Depth 110 216 25 40 90 M12xP175 30 55 M10xP1.5 25 30 10 G1/2 $100 258 59 110 25 40 90 M12xP1.75 108 55 M10xP1.5

XON

d40IN

Nor

odl



B Dimensions

B : End plate

E4

a

o
Bore
size 11 12 13 J1
$32 116 58 70 15
440 116 58 70 15
#50 158 78 97 20
963 158 78 97 20
#80 216 108 140 25
#100 216 108 140 25
C : Mounting block
Bore
size R1 R2 R3
¢ 32 52 15 24
¢ 40 52 15 24
¢ 50 74 20 32
» 63 74 20 32
#80 110 25 40
#100 110 25 40

Guide Cylinder

B1

B2

A—

J2

26
26
37
37
55
55

S1

26
26
37
37
55
55

D1

E1

L1

32
32
43
43

L2

28
28
39
39

M1

44
44
60
60

57.557.5 85
57.557.5 85

U1

M2

22
22
32
32
48
48

M3

g

%

i

S3

=}

R1

S1

S2

12
12
16
16
20
20

S3 T1
M14xP1.5 20
M14xP1.5 20
M20xP1.5 25
M20xP1.5 25
M25xP1.5 40
M25xP1.5 40

E3

M14xP1.5 M14xP1.5
M14xP1.5 M14xP1.5
M14xP1.5 M20xP1.5
M14xP1.5 M20xP1.5
M14xP1.5 M25xP1.5 12.5 40
M14xP1.5 M25xP1.5 12.5 40

T2

7.5
7.5
10
10
12.5
12.5

B3

F3 F1

C1

M4 o1

7.5
7.5
10
10

02

18
18
25
25

R2

U1

$6.5- ¢ 9.5x6.5 Depth
$6.5- ¢ 9.5x6.5 Depth
¢ 8.5- ¢ 14x8.5 Depth
¢ 8.5- ¢ 14x8.5 Depth
#10.5- ¢ 17x11 Depth
#10.5-  17x11 Depth

(Unit: mm)

03

¢ 6.5- ¢ 9.5x6.5 Depth
¢ 6.5- ¢ 9.5x6.5 Depth
¢ 8.5- ¢ 14x8.5 Depth
¢ 8.5- ¢ 14x8.5 Depth
#10.5- ¢ 17x11 Depth
#10.5- ¢ 17x11 Depth

(Unit: mm)

Shock
absorber code

DA1415
DA1415
DA2020
DA2020
DA2525
DA2525

B Material of parts

No.

O OO A ODN

2 3 4 5 6 7
—{—— |
%ﬁ@ ———
. 1
S SRR }é ****************************** _E_B{}_
%6.3—%1
o S ——————
[ T —F—(—— 1]
10 11 12 13 14 15
Description Material Qty. No. Description Material
Stopper Carbon steel 4 8 Socket set screws Carbon steel
Fixing screw Carbon steel 4 9 Plate Aluminum alloy
Fixing screw Carbon steel 2 10 Socket set screws Carbon steel
Mounting plate Carbon steel 1 11 Washer Carbon steel
Fixing screw Carbon steel 4 12 Adaptor Carbon steel
Bushing I(?I’_l:lliir:\ear s 4 13 Guide body Aluminum alloy
: 9 14 Snap ring Carbon steel
. Carbon steel ) )
Guide rod 2 15 1S06431 standard cylinder ~ Aluminum alloy

(L:Bearing steel)

Qty.

JEE N N P G G O G

XON

d40IN

Nor

odl



Bore size

¢ 20

¢ 25

¢ 32

¢ 40

¢ 50

% 63

% 80

$ 100

Rod
diameter

8

$10

$12

¢ 16

¢ 20

¢ 20

¢ 25

¢ 25

M Stroke table

Bore size
20~ ¢ 25

$32~ ¢100

Note: Please contact our sales for non-standard stroke.

Guide Cylinder

Bl Theoretical force

Acting

Push
Pull
Push
Pull
Push
Pull
Push
Pull
Push
Pull
Push
Pull
Push
Pull
Push
Pull

Acting

Piston area

cm?
3.14
2.64
4.90
4.12
8.04
6.91
12.57
10.56
19.63
16.49
31.17
28.03
50.27
45.36
78.54
73.63

Double acting

M Mounting example

Side mounting

2
6.28
5.28

9.8
8.24
16.08
13.82
25.14
2112
39.26
32.98
62.34
56.06

100.54

90.72

157.08
147.26

Operating pressure kgf/cm?

3
9.42
7.92
14.7
12.36
2412
20.73
37.71
31.68
58.89
49.47
93.51
84.09
150.81
136.08
235.62
220.89

25~1000

4
12.56
10.56
14.7
12.36
32.16
27.64
50.28
42.24
78.52
65.96
124.68
112.12
201.08
181.44
314.16
294.52

Standard stroke(mm)
5~500

5
156.7
13.2
245
20.6
40.2
34.56
62.85
52.8
98.15
82.45
155.85
140.15
251.35
226.8
392.7
368.15

Top face mounting

6
18.84
15.84
29.4
24.72
48.24
41.46
75.42
63.36
117.78
98.94
187.02
168.18
301.62
272.16
441.78
417.24

# Downward

¥

21.98
18.48
34.3
28.84
56.28
48.37
87.99
73.92
137.41
115.43
218.19
196.21
351.89
317.52
549.78
515.41

Max. Standard stroke(mm)
900
1800

W/

Bottom face mounting

XON

d40IN

Nor

odl



M Features

Mini Gripper

1. Identical to SMC mounting hole
2. Precision and no vibration.
3. Endurable and strong mechanism.

4. SUS440C gripper provides a long life of product.
5. Aluminum alloy body with hard anodizing for wear

and corrosion resistance.

B How to order

S BT
3
N 2
3t

Parallel type

Fulcrum type

HPS 16 N SR D 1
Mini chuck Bore size | Type of gripper Sensor Type Number of sensor
HPS :Parallel type 10:910 W:Wide Blank :W/O sensor |Blank:Reed switch |1 pc
(Linear mechanism) 16:916 N :Narrow SQ :Square type D:NPN 2 pcs
HYS:Fulcrum type 20:220 AL-30 E:PNP
25@25 (For HPS only) /

SR :Round type

~

AL-07

Bl Specifications

Bore size

Port size

Gripping gap distance (Wide type)

Gripping gap distance (Narrow type)

Internal gripping force(

For HPS)

External gripping force(For HPS)

Fluid
Acting

Operating pressure range
Max. operating pressure

Lubrication
Body material
Gripper material
Magnet

Ambient temperature

Operating frequency

Operating angle (For HYS)

210
M3

Full open:15.2mm
Full closed:11.2mm
Full open:9.7mm
Full closed:5.7mm

16.5N
10.5N

216

Full open:22mm
Full closed:14mm

Full open:15.2mm
Full closed:7mm

44N
33N

*Sensor please refer to P3-191, P3-194

220
M5

Full open:26mm
Full closed:16mm

Full open:17.2mm
Full closed:7.7mm

65.5N
42N

Compressed air

Double

acting

925

Full open:33.3mm
Full closed:19.3mm

Full open:22.8mm
Full closed:8.8mm

102N
63.5N

Fulcrum type : 1.0~6.1 kgf/cm?, Parallel type : 1.0~7 kgf/cm?
7 kgf/lcm?

Not required or few
Aluminum alloy (6061T6)
SUS(Parallel type ), S45C(Fulcrum type)

Built-in
0°C ~60°C

HPS: 160 c.p.m.

HYS: 180 c.p.m

-10° ~30°

BEDimensions
HPS-10~25

TP

Model
HPS-10W
HPS-10N
HPS-16W
HPS-16N
HPS-20W
HPS-20N
HPS-25W
HPS-25N

Model
HPS-10W
HPS-10N
HPS-16W
HPS-16N
HPS-20W
HPS-20N
HPS-25W
HPS-25N

\ Gripper closing port
(Z)
Gripper opening port

(4]

A B C
378 57 23
378 57 23
424 67 245
424 67 245
527 84 29
527 84 29
63.6 102.7 30
63.6 102.7 30

N O P Q

12 19 23 29
12 19 23 29
15 22 30.6 38.1
15 22 30.6 38.1
18 32 42 50.2
18 32 42 50.2
22 40 52 63
22 40 52 63

X1 S 405
X2 Y “' 4T
| |
= v
g :
~— — 1 ¥ | — - >
| | ©®

(B)

o
K
P

Sensor groove

)
s| z EE@H‘ z
u [@) ﬂqi
o Sensor groove
2-R
Q

(Unit: mm)
D E F G H I J K L M
16 19 9 7.6 52 M3xP0.5xL6.0 27 11.4 M3xP0.5xL6.0 16.4
16 19 9 7.6 52 M3xP0.5xL6.0 27 11.4 M3xP0.5xL6.0 16.4
24 19 75 11 65 M4xP0.7xL8.0 30 16 M4xP0.7xL4.5 23.6
24 19 75 11 6.5 M4xP0.7xL8.0 30 16 M4xP0.7xL4.5 23.6
30 23 10 16.8 7.5 M5xP0.8xL10.0 35 18.6 M5xP0.8xL8.0 27.6
30 23 10 16.8 7.5 M5xP0.8xL10.0 35 18.6 M5xP0.8xL8.0 27.6
36 23.5 10.7 21.8 10 M6xP1.0xL12.0 36.5 22 M6xP1.0xL10.0 33.6
36 235 10.7 21.8 10 M6xP1.0xL12.0 36.5 22 M6xP1.0xL10.0 33.6

R S T Uu Vv w Xt X2 Y z

M3xP05xL60 5 M25xP0.45 5.7 4.8 2 15232 11.23, 4 5, M3xP0.5
M3xP05xL6.0 5 M25xP045 5.7 48 2 9.7 3% 57 34 43, M3xP05
M4xPO.7xL80 8 M3xP05 7 6.3 3 22 22 14 3, 5.3, M5xP0.8
M4xPO.7xL80 8 M3xP05 7 6.3 3 152%2 7 5, 5.5, M5xP08
M5xP0.8xL10.0 10 M4xPO.7 9 7.9 4 26 "33 16 5, 8 91 M5xP0.8
M5xP0.8xL10.0 10 M4xPO.7 9 7.9 4 17.2°5% 7.7 84 8 31 M5xP0.8
M6xP1.0xL12.0 12 M5xP0.8 12 104 4 33.3'353 19.38s 100+ M5xP0.8
M6xP1.0xL120 12 M5xP0.8 12 10.4 4 22.8°3° 8.8 84 1001 M5xP0.8

OAH

NZYS | NOYS



Mini Gripper

BHDimensions

HYS-10~25
Open angle
HYS:Fulcrum type
30° 0
D S 01
\ Closed angle / 1
] N TS 2.T
Gripper closing port \‘S‘:f\ ‘,"10 “l‘ )_217 @ /_
o H100 el
[ (msxPog) o W) I RS @/
. Iy
o @) <@ o
) © L——JE )
< ,4 N 2-L
® :
(O]
® i L
T
K
Gripper opening port
()
P
Speed regulating needle [0)
(V)
=
Q_L<_
Sensor groove
(Unit: mm)
Model A B C D E F G H I J K
HYS-10 386 524 128 28 10 16 188 7.2 M3xP0.5xL6 88 114
HYS-16 446 625 16.2 3.9 16 24 18.3 7 M4xP0.7xL8 10.7 16
HYS-20 552 777 217 45 20 30 222 75 M5xP0.8xL10 15.7 18.6
HYS-25 604 92 258 4.6 25 36 235 85 M6xP1.0xL10 19.3 22
Model L M N (0] P Q R S T u
HYS-10 MB3xP0.5xL6 16.4 12 18 23 4.6 M3xP0.5xL6 6.4 M2.5xP0.45through M3xP0.5
HYS-16 M4xP0.7xL6.5 23.6 15 22 30.6 5.7 M4xP0.7xL8 8 MB3xP0.5through  M5xP0.8
HYS-20 M5xP0.8xL8 27.6 18 32 42 8.8 M5xP0.8xL10 10 M4xP0.7through  M5xP0.8
HYS-25 M6xP1.0xL10 33.6 22 40 52 11.5 M6xP1.0xL12 12 M5xP0.8through  M5xP0.8

M Gripping force graph

HYS16:Fulcrum type

Vi
-
p
G

HYS20:Fulcrum type

9
3

(S0}
o o

=
o

[=2]
o

<]
=]

w
o

»,

e,

(N)a2404 Buiddun
N IN
o o

w
o

€73,
o,

o
2079|206 T2

=
o

(N)@2404 Burddus
B
o

N
o

) e

o

o

10 20 30 40

Gripping point L

HPS16:Parallel type

FMPT

o
o

mm

HPS20:Parallel type

20 30 40

Gripping point L

60 mm

Pressure/Gripping point/Gripping force graph
*Please note that gripping force need 10~20 times
greater than the work piece weight.

60—

Pressureo.7mp,

Pressure 0 gy,

P

Ssure 0.5\p,

Pressur

0.4MPa

Pressul

e 0.3MPa|

Pressufe 0.2MPa

9 @
@

= Pressyfe 0.6Mpa &
T, k=]
N S,

3 ressure 0.4mp, a
= s
S Pressure U.APa | o
(2] (2]

®

2 Presfure 0.3MPa 2
4 = 4

= =

Prdssure 0.2MPa
10 10
o 10 20 30 40 50 60 mm o

Gripping point L

20

40 60
Gripping point L

H Effective gripping force calculation

uF ruF
mg
Example:
<The "10 to 20 times or more of the work piece weight">
When p=0.2 When p=0.1
mg
= x4
F=2x02 =—M9 44
_ 2x0.1
= 10 x mg

10 x work piece weight 20 x work piece weight

80 mm

When gripping a work piece as in the left figure ,

the following definitions are applied:

F: Gripping force (N)

M: Coefficient of friction between the attachments
and the work piece

m: Work piece mass (kg)

g: Gravitational acceleration (=9.8m/s?)

mg: Work piece weight (N)

the conditions under which the work piece will not drop
are:
2 X uF >mg
Number of fingers
and therefore
_mg

F>
2XU

With "a" representing the extra margin, F is determined
by the following formula:

mg
2xy

F> X a

%Even in cases where the coefficient of friction is

greater than p=0.2, for reasons of safety, a gripping
force should be selected at least 10 to 20
times greater than the work piece weight.

XIt is necessary to allow a greater margin for high

accelerations and strong impacts.

OAH

NZYS | NOYS



Mini Gripper

A K seiel

Hl Material of parts

No. Description Material Qty
HPS: Parallel type 1 Steel ball Carbon steel 24
2 Roller stopper Stainless steel 4
3 Plug Fe+Ni 2
1 12 4 Hex socket head cap screw Stainless steel 4
5 Lever shaft Stainless steel 2
2 — 13 6 Center pin Stainless steel 1
.. 7 Piston Aluminum alloy 1
3 g’t 14 8 Body Aluminum alloy 1
4 L i 15 9 Snap ring Fe+Ni 1
& 10 O-ing NBR 1
5 = 16 11 C type snap ring Stainless steel 1
12 Gripper Stainless steel 2
6 17 13 Screw Fe+Ni 8
14 Parallel pin Stainless steel 2
7 18 15 Guide Stainless steel 1
19 16 Lever Stainless steel 2
8 17 U-ring NBR 1
18 Bumper PU 1
9 20 19 Magnet Rare earth magnet 1
20 U-piston seal NBR 1
10 21 21 End cover Aluminum alloy 1
11—
HYS: Fulcrum type No. Description Material Qty
1 Gripper Carbon steel 2
13 2 Body Aluminum alloy 1
14 3 Piston Aluminum alloy 1
1 4 Plate Carbon steel 1
15 5 Sleeve Aluminum alloy 1
2 \4 16 6 U-ring NBR 1
| 7 O-ring NBR 1
3 ; J% 17 8 Bolt Cu 1
Z 9 Nut Fe+Ni 1
4 - A " Vg 18 10  Speed regulating needle  Cu 1
. 4 11 O-ring NBR 1
5 — 19 12 Steel ball Carbon steel 1
6 20 13 Snap ring Stainless steel 1
{ —11- 21 14  Center roller Stainless steel 2
: . = 15  Center pin Stainless steel 1
7 I J:f \ 2 @_ 22 16  Lever shaft Stainless steel 2
8 v ' . 17 Plug Fe+Ni 2
B ___:__i,/, 23 18  Roller pin Stainless steel 2
9 il 2 : 19 Roller Stainless steel 2
i 24 20 U-ring NBR 1
10 N ' : N 21 Bumper PU 1
| = 25 22 Snap ring Fe+Ni 1
1" O | o 2 23 Magnet Rare earth magnet 1
, B 24  U-piston ring NBR 1
12 . T 27 25 O-ing NBR 1
' 26  End cover Aluminum alloy 1
27  C type snap ring Stainless steel 1

OAH

NZYS | NOYS



bt
©)
U
o
7
¢

BEDimensions

M Features HPC-10 A Yioov HPC:Parallel type
Y2 2
1. The gripper open and close are - & - .
controlled by pneumatic system. _1 1© ﬁ? 4 i
2. Miniature design, space saving. o] Lét ol
. . . . 15)4 2-0
3. Sensor installation is available. Lo & L. L34, = ¢ &
M
@ o | o —
o | o N a‘
uf g
Fulcrum type \
Parallel type R M 2k Q
T 2-S
Sensor groove "
g
B How to order LTS > =
HYC 32 SR D 1 =
Mini chuck Bore size Sensor Type Number of sensor HPC-16~32 A
HPC:Parallel type |10:010 Blank :W/O sensor Blank:Reed switch 1 pc -2 - X vi_| %
HYC:Fulcrum type | 16:316 SR :Round type “'D:NPN 2 pcs G E L E
/ 4. ° I
20:020 / E:PNP ; —1
e :
’ SU :Square type 2F “ \ P o
© ) o |
| 15/ | ||@ =
wi [ 7]
AL-16 bJ R
*Sensor please refer to P3-191, P3-193 T 2.8 N 2-K
([ Ve
e‘\ / >¢ e
Sensor groove ~
w
Bl Specifications
. (Unit: mm)
Bore size 210 216 @20 @25 @32 A
i Model B E F H |
Po.rt size . M3 M5 odel Open Closed c G J
CIfpEE Gere IEEmEE (7ar e 4mm 8mm 12mm 14mm 16mm HPC10 22° 18> 45 13 11 M3xP0.5xL8.0 M3xP0.5xDepth5.0 155 10 M3xP0.5 through
Sy Geres (el H2O) SN 17.6N 34.3N 58.8N 83.3N HPC-16 33° 25° 585 15 14 @34 through, @6 Counter bore x Depth 35 M4xP0.7xDepth80 21 14 M3xP0.5 through
Operating angle (For HYC) -10° ~ +30° o o
- C . HPC-20 44 32° 69.5 19 15 @4.3 through, @8 Counter bore x Depth 4.6  M5xP0.8xDepth10.0 22 16 M4xP0.7 through
i'ut'_d gm%rlesset‘_j ar HPC25 51° 37° 795 24 16 @5.3 through, @9.5 Counter bore x Depth 5.5 MéxP1.0xDepth12.0 24.5 20 M5xP0.8 through
cing ouble acting HPC32 60° 44° 88 31 18 @523 through, @9.5 Counter bore x Depth 5.5 M6xP1.0xDepth15.0 30 26 M6xP1.0 through
Operating pressure range 1.5 ~ 7 kgf/cm?
Max. operating pressure 10.5 kgf/cm? Model K L M N (o] P Q R S T U V W X1 X2 Y1 Y2
Lubrication Not required or few HPC-10 M3xP0.5 20 7 6 M3xP0.5xL8.0 20 18 18 MB3xP0.5xL5.0 177 16 10 23 6 3 4 7
Body material Aluminum alloy HPC-16 M5xP08 23 8 6 M4xP0.7xL8.0 255 24 28 M4xP0.7xL8.0 26 22 14 34 8 3 4 1N
Magnet Built-in HPC-20 M5xP08 28 9 8  M5xP0.8xL10.0 28 30 36 M5xP0.8xL100 35 26 16 45 10 4 6 12
Ambient temperature 0°C~60°C HPC-25 M5xP0.8 305 95 18 M6xP1.0xL120 315 36 40 MexP1.0xL100 40 32 20 52 12 5 8 14
Operating frequency 50 ~700 mm/Sec. HPC-32 M5xP0.8 34 10 24 M6xP1.0xL150 375 44 50 MexP1.0xL10.0 46 40 26 60 15 7 9 18

SdH

NZYS | NOYS



Mini Gripper
Z & serie] M Theoretical force
; g . Pist Operating pressure kgf/cm?
B Dimensions Bore size  iston area
HYCA0 cm? 2 3 4 5 6 7
i z V/%\7 HYC:Fulcrum ype ¢ 10 0.79 1.58 2.37 3.16 3.95 4.74 5.53
. d’;"m ¢ 16 2.01 4.02 6.03 8.04 10.5 12.06 14.07
“ Vﬁ ¢ 20 3.14 6.28 9.42 12.56 157 18.84 21.98
(TR ¢ 25 4.91 9.82 14.73 19.64 24.55 29.46 34.37
P # ¢ 32 8.04 16.08 24.12 32.16 40.2 48.24 56.28
2-F : &
e I ¥
m’ |
|
R
Sensor groove T /ﬂ ]
! a t M Mounting example
[ AN T A . . )
2 - Bottom mounting Side mounting
HYC-16~32 A
N
2. X =R , Yt o
r\\’\ 5 = [‘,I\I’ T =
Y ‘\\ - -\ I,‘/ . o - =
\\u \,,’ ? 2.0 ]
9 e ' 20 1@ & — —y | ©)
25 & o x;; - b ¢ o @—\,‘ LI_L_-_Q}_@ ___________ i
5| |l NEF o| « B i 1 S ~
mt f{ wt L & - e =1
R WHANY a ‘n—r o 0 | = ¢ (J[®
r_ 2s R L o |
28
Mo ov8— — 4
Sensor groove ({)(\ >$
~~—~
w . .
Top face mounting Bottom face mounting
(Unit: mm)
Model C E G Hoo J
® Open Closed
HYC-10 30° -10° 365 157 11  M3xP0.5xL8.0 M3xP0.5xL50 155 10 M3xP0.5 through ‘
HYC-16 30° -10° 455 158 14 ¢34 through, ¢ 6 Counter bore x L3.5  M4xP0.7xL80 21 14 M3xP0.5 through N
HYC20 30° -10° 53 22 15 ®42through, &8 Counterbore x L46  M5xP0.8xL10.0 22 16 M4xPO.7 through iy rfjgx 65 '_F%EL__ ]
HYC-25 30° -10° 61 26 16 ¢53 through, 4 9.5 Counter bore x L55  M6xP1.0xL120 245 20 M5xP0.8 through =2 _é it d/" — 1 ¢ ;
HYC32 30° -10° 68 30 18 53 through, ¢ 95 Counter bore x L55  M6xP10xL150 30 26 M6xP1.0 through Lo ) i ) | | iy |
Model K L M N 0 P Q R s T (U ¥ W Xe e f
HYC-10 M3xP05 20 7 9 M3xP05xL80 20 18 18 M3xP05x80 17 16 10 23 6 3 4 7
HYC-16 M5xP0.8 23 8 6 M4xPO7xL80 255 24 28 M4xPO.7xL80 26 22 14 34 8 3 6 9
HYC-20 M5xP0.8 28 9 8 M5xP0.8xL100 28 30 36 M5xP0.8xL100 35 26 16 45 10 4 7 12
HYC-25 M5xP0.8 305 95 18 M6xP1.0xL120 315 36 40 M6xP1.0xL100 40 32 20 52 12 5 9 14
HYC-32 M5xP0.8 34 10 24 M6xP1.0xL150 375 44 50 M6xP1.0xL100 46 40 26 60 14 6 10 18

0

SdH

NZYS | NOYS



Mini Gripper

A K seiel

Hl Material of parts
HPC: Parallel type

© 00 N oo o B~ ODN -

=
o

=
=Y

-
N

HYC: Fulcrum type

' —T7
“
“ —
o

© 0 N oo a0 A WO DN =

-—
o
|
i
i
i

13

14

15

16

17
18

11
12

13

14
15
16

® N oA WN S

= S S A A A A A
0 N O A WDN -2 O

© 0o ~NoO G A WN S

O =
O g b ON -~ O

Description
Gripper
Pin
Roller
Lever
Lever shaft
Piston rod
U-ring
Gasket
Piston
U-piston seal
O-ring
Magnet
Plug
Body
Magnet holder
O-ring
End cover
C type snap ring

Description
Gripper
Pin
Lever shaft
Piston rod
U-ring
Gasket
Piston
U-piston ring
O-ring
Magnet
Plug
Body
Magnet holder
O-ring
End cover
C type snap ring

Material
Stainless steel
Carbon steel
Carbon steel
Stainless steel
Carbon steel
S45C+Cr
NBR
NBR
Aluminum alloy
NBR
NBR
Ferrite magnet
Carbon steel
Aluminum alloy
Aluminum alloy
NBR
Aluminum alloy
Fe+Ni

Material
Stainless steel
Carbon steel
Carbon steel
S45C+Cr
NBR
NBR
Aluminum alloy
NBR
NBR
Ferrite magnet
Carbon steel
Aluminum alloy
Aluminum alloy
NBR
Aluminum alloy
Fe+Ni

_\_\_\_\_\.b_\_\_\_\l\)_\_\.bl\)-bo)l\)g
SdH

NZYS | NOYS

_\_\_\_\_\l\)_\_\_\_\l\)_\_\l\)_\l\)g



Bl Features

Parallel Gripper (2-Finger)

1. Compact design to ensure minimum interference

while operating; robust T rail design, ensure

accurate gripping.

2. Can reach maximum torque suitable for long jaws

design.

3. Oval piston-driven design ensure maximum gripping

force.

4. Hose-free direct connection: Air supply channel can
connect directly without piping or through tread to
assure the flexibility of supplying compressed air on

any kind of automation system.

B How to order

SRGN - 50
Parallel Gripper (2-Finger) | Body Specification
50
66
80
100
B Specifications
Model SRGN
Acting type Double acting
Body specification (mm) 50 66 80 100 125
Stroke per-jaw (mm) 4 6 8 10 12
Closing force (N) 170 300 550 740 1290
Opening force (N) 185 325 590 795 1370
Close/Open time (1/s) 0.02 0.03 0.04 0.07 0.1
Fluid Air
Operating pressure range 3 ~ 8 kgflcm?
Compressed air consumption (cm3) 4.1 10.1 23.6 39.3 85
Ambient temperature +5° ~ +80°
Lubrication Not required
Accessories Mounting block, Centering sleeve
Weight (kg) 0.14 0.27 0.495 0.85 1.6
Recom. workpiece weight (kg) 0.85 1.4 2.6 3.6 6.3

160
16

1860
1960

0.1

85

3.0
9.2

B Dimensions

SRGN-50~100

SRGN-125~160

Vi
|
p -l
G

FA FA
D
G2 C+0.02 E D
C +0.02 C £0.02 4-MB
F 2~ DIN912
1% e [0} — 5 B
1A @ 1 . “3 1--- "0 ©
7\—4'\61‘}\)7 o e o H{E- &l O [ - :
C N R TR W ¥ R oW
@ | @ IR D N www¢ N AAN
jéa {QE ] O  © |
. N @ @V;j
4-MB MC
DIN912
A hole: Gripper open
B hole: Gripper close
S hole: External vents
oM _  2-0 H K+0.02
2
‘ // at
| 3 S
B | A@ - o o
o 1 £ - < «Q S ©
I I I 1 <3 1 < 1
: T
2-MA / AB 2-P (air port) \2x2-M3 x| AD
DIN912 AC 2x4-M3
3% Only for SRGN 100~160
/ N+0.02 i Centering sleeve
N O SRGN-50~100 SRGN-125~160
2 [Of| _|2-NA 4-X1 4-X1
4-X2 4-X2
[u1] ) @
2y ) @ 2-R : : — ! !
=z O d’/ [ + —
] g . Centering | s = L@J sz
© @ @ “G{ J sleeve ; L ‘ ‘ ‘
T aa O\ =T
N T
. 1
Model Al A2 AB AC AD BB BC BD BF C D E FA G GI G2 H K KH L
SRGN-50 5 15 25 35 25 3 15 19 22 8 16 4 50 12 65 20 278 25 15 ¢3H7x4.5dp
SRGN-66 5 18 28 42 28 39 185 23 275 12 22 5 64 17 10 28 36 20 18 ¢4H7x4dp
SRGN-80 10 20 40 52 40 49 22 30 35 15 267 6 80 22 12 347 42 40 20 ¢4H7x6dp
SRGN-100 12 25 48 66 54 55 28 33 38 18 343 10 100 26 14 443 50 50 25 ¢5H7x7dp
SRGN-125 13 30 62 82 65 64 32 385 45 125423 12 125 31 155543 60 60 30 ¢6H7x8dp
SRGN-160 155 28 78 100 82 78 39 46 53 18 548 16 160 39 20 708 72 76 28 ¢6H7x10dp
Model MA MB MC N NA NB NR O OM P Q R T U V W X1 X2 2z
SRGN-50 M3 M3 4-M3 35 ¢¢3H7 20 8 M3 10 M5 M4 M2 25 1 2 39 ¢5 ¢35 42
SRGN-66 M4 M4 4-M4 42 H4H7 27 11 M5 12 M5 M5 M3 28 1 2 39 ¢6 ¢$45 52
SRGN-80 M4 M4 4-M6 52 ¢$4H7 32 122 M5 15 M5 M5 M3 40 1 2 39 ¢8 ¢6.5 64
SRGN-100 M5 M5 4-M6 66 ¢5H7 38 16 M5 16 G1/8 M6 M5 48 1 2 39 ¢10 ¢6.5 80
SRGN-125 M6 M6 6-M6 82 ¢6H7 45 18 M5 20 G1/8 M8 M5 60 1 2 39 ¢10 ¢6.5100
SRGN-160 M6 M6 6-M8 100 ¢6H7 56 22 M5 27 G1/8 M8 M5 76 1 2 39 ¢12 ¢85 125

SdH

OAH

NZyS



Parallel Gripper (2-Finger)

H Internal structure & Movement description

Compressed air will push or press the oval piston.

Bearing rails load the base jaw, which Anodized high rigid aluminum
ensure the minimal vibration of long jaw. alloy to reduce weight.

Jaws connected to work piece.

Generate larger structural strength.

High power transmission center jaws. Sensor switch or proximity sensor are

available.
H Application examples H Hose-free direct connection
By tilting the working surface, the wedge hook
will transfer movement to side movement,
and initiate the action of the two base jaws Model R RX RZ Y
simultaneously. 50 M2 2 4 07
66 M3 3 5 07
Mounti f@ 80 M3 3 5 11
ounting
flange ' 100 M5 5 8 11
ﬂ 125 M5 5 8 11
B 8 11

2R A hole: Gripper open
B hole: Gripper close

5N6 &

M Installation of sensor switch & speed controller

Holding force (N)

Holding force (N)

N
=
S
S

1500

1000

b= - - A-—r -1

12 24 36 48 60
Holding position L (mm)

SRGN-100

2500,

u
=
S

0 24 48 72 96 120
Holding position L (mm)

Speed controller
FJSC series

Model

SRGN-50
SRGN-66
SRGN-80
SRGN-100
SRGN-125
SRGN-160

SRGN-66
Z 800
8
s 600,
2 400
£
2 200

N 15 30 45 60 75
Holding position L (mm)

SRGN-125

4000 .
—_ |
Z 3200 - -~
8 |
5 2400f - -~
had |
2 1600} — - -1
5 |
2 80of--—

|

0 32 64 9 128 160
Holding position L (mm)

Speed controller
FJSC series

Mx max. My max. Mz max. Fz max.

(Nm) (Nm) (Nm)

15

50

80
100
120
160

15 8

45 35
60 50
90 75
120 100
180 140

(Nm)

700
1200
1800
2500
3200

5000

Holding force (N)

20 40

60 80 100

Holding position L (mm)

SRGN-160
6250

5000

3750

2500

Holding force (N)

1250

0

L L
0 40 80

120
Holding position L (mm)

L
160 200

* Blue area: Less durable performance

can be expected.

SdH

OAH

NZyS



SRGN-50

Parallel Gripper (2-Finger)

H Max. feasible centrifugal degree

HPS HYC SRZN

60 80 100 120 140 160 180
Y (mm)

40

T T T T T T T T T T T T T T T T T T T T T T T T
I T R T | [ I N Y R A | [ R B B B | | | |
I T T | [ I N N R R | o | | | |
[ T R R B o F=1--r =Tt r-T1- e | L _a__ ]
[ N B R B F o=t =t =r-r -] g [ T Y B i ] ] |
IR T T Y P G P e |8 [ | | | |
R R [ R T B -1----r-a--r-1--g | | | |
[ R T | [ R T R B [ R T Y B =4 R A S
[ R T | T R R Ay ey 1Y o | | | |
[ T T | R F-t--——t-"--rFr-1--|o | | | |
R [ [ R T R T [ . | | | |
F-4--m -t -c=pF=1-- [ R T B [ T R T F-=t---im=-p ===
[T T Y B | IR TR B B Ny S B |- F-4--1--+-a--r-+--|8 | | | |
[ T T | - CC T T T T = [ R R T - | | | |
oo 0 o £ [ N I I £ o e E P R e
| | | | | | < £ | T O R T B B | o £ St e e e et R = T | T T
Lo _i_a___a_ | E | a1t |RE N | | | |
[ e M| [ i R Rl B [ N T T | | | |
[ T R T | s [ T R OY RSN . S LS | L _a__ ]
o e [ T B T e N | ] ] |
o | I A [ R Y R 4 | | | |
[ T R T | F-r === 9= 1-T-r-r- T [P By g | | | |
A [ A T E A Y T S o 1 e Ry S —
[ N [ R R R A I [ R I B B B £ | | | |
|- I A S | | | |
[ R T | F-F==a=-t-t-r-r- o R 1) o | | | |
[ R T | © [ T S B B I < P=] [ N N N L] © [--1--om--r--a---
N A © [ R T R R e R B T S Y - | | | |
11" -1 v [ Y T B ' [ R N ' | | | |
[ T T | 2 A e e EE R S e P 4 [ T B B o Z | o]
[ R T | ) e |2 (D | — -(JSE S | ) T | ] i
[ R T | ¥ [ T R B A I ¥ | | | |
[ T R T | [ R T Y B [ R R T B | | | |
[ S S SR P (7] M SR H R T P n R P 7] ! L L !
S @ © @ © © © o ocooooooooo @ ©o 2 © © © o o o © o o o o
~ O wn < M ~N - O N O W T M AN~ < o~ o 0 O < ~N wn o wn o wn
- - - ~ ~N - -
(ww) Z (ww) Z (W) Z (ww) Z
o2
5 Q0
= 0
S a T 1 T T T 1 T T T T T T T 1
O O [ R I R R | [ R N B B
O = I T T B R B | [ I R B
w £ N [ T R R |
S R R el i o P | e
O [T T T T A B T T 1 [ E B M
S T T R B | [ R B B B
S T T B R B | [ N T T
e Ny I 1 [ R B T
R S IR T PRy S G
z I R T T N T | O T T T T T
IR R T T A B | [ R T B
T R R P T N £ [ R B T
N R N | - [ R B T
—mes S R T T B | € F -4 — e m a1
== S R T T B | [
B . _||_||_||_||_|_||_||_||=0,{m\ [ R B T
Lad T I i R B e [ T R B
==== S R T T N B | > o
[ N A < F -4 --——t——-—rF-1--
R [ T B T
i e Al sl et [ R T T
> [ A T T B R I P [ R R T B
[T T T T B R P [ R A
o S Sub it Bt el mhls S
F-F—im A= -t-t-r-r- 0 [ R T T
o o [ T T B A B B I = Y [ N T T
© T T T R B | - [ R T T
ettt o it Rt () |y Sttt il i S R T T N B | T T SR IO PR O B
Z [F-r-tma-d-dmb b =z [ I N B
o [ I R R R A 0] [ R R T B
T T T R B | [ R E T B
74 S T T T R B | o [ R T T B
17 I R A R P 7] I R
Scocooocoocoo oo o n © ;n o n o
AN N O N M AN — ~ wn ~N o ~ wn o~
= < = =
(ww) z (ww) z

40 60 80 100 120
Y (mm)

20




Parallel Gripper (3-Finger)

HEDimensions

M Features

1. Compact design to ensure minimum interference while
operating; robust T rail design, ensure accurate gripping.

2. Can reach maximum torque suitable for long jaws design.

3. Circular piston-driven design ensure maximum clamping
force.

4. Hose-free direct connection: Air supply channel can
connect directly without piping or through tread to assure
the flexibility of supplying compressed air on any kind of
automation system.

SRZN-50~100
SRZN-125~160

C +0.02

C+0.02

- 5

B How to order AR L}S J

SRZN - 5 0 ) gCOA 3 A hole: Gripper open
n " T : @ o [ 2 B hole: Gripper close

Parallel Gripper (3-Finger) | Body Specification = o} % S hole: External vents

gg 1%(5) AB \ 2-P (air port)

80
100
Centering sleeve
SRZN-50~100 SRZN-125~160
T 6-X1 6-X1
T - 6-X2
@ 6-X2 . .
M Specifications Centoring L Qﬁﬁ “EI iNE
~ | | S <
T sleeve i \
Model SRZN e I ) "‘E'E
Acting type Double acting [
Body specification (mm) 50 66 80 100 125 160
Stroke per-jaw (mm) 4 6 8 10 12 16
Closing f N
Os"?g orce (N) 2el 150 250 2o colil i Model AMM AB AC B1 BB BC BD BF C D E G GI G2 HI H2 K L
Opening force (N) 500 800 1300 2100 3600 6600 SRZN-50 5 12 12 5 35 26 23 23 8 16 4 12 65 31 26 27 19 45
Close/Open time (1/s) 0.025 0.03 0.05 0.1 0.2 0.25 SRZN-66 115 12 18 5 43 32 27 27 12 22 5 17 10 41 33 35 25 56
Fluid e SRZN-80 8 26 18 8 50 36 31 31 15 267 6 22 12 515 405 435 32 70

SRZN-100 13.5 24 24 10 60 41 38 34 18 345 10 26 14 64 51 54 42 90
Operating pressure range 2 ~ 8 kgflcm? SRZN-125 17 30 30 10 68 49 425 37 125 423 10 31 155 79 64 67 53 112

ComaeEsas £l cansumsie (&) 9.2 TG a7 166 o e SRZN-160 20 44 38 105 80 55 48 438 18 548 10 39 20 102 81 86 675 146
Ambient temperature +5° ~ +80° Model M N o P Q R S T u vV W X1 X2
Lubrication Not required SRZN-50 M4 DIN912 M5 M3 M5 M3 57 ¢ 4H7 6-M3 1 2 3.9 ¢5 ¢3
. Ty — SRZN-66 M5 DIN912 M6 M5 M5 M5 74  $4HT7 6-M4 1 2 39 ¢6 b4
Accessories ounting block, Centering sleeve SRZN-80 M6 DIN912 M8 M5 G1/8 M5 92  ¢5H7 6-M6 1 2 39 ¢8 $6
Weight (kg) 0.22 0.5 0.85 16 28 5.2 SRZN-100 M6 DIN912 M8 M5 G1/8 M5 114  ¢$5H7 6-M6 1 2 39 10  ¢6
: : SRZN-125 M8 DIN912 M10 M5 G1/8 M5 139  ¢6H7 9-M6 1 2 39  $10  ¢6
Recomworkpiecaiveighti(ka) 2.2 3.8 6.1 10.2 17.8 33.1 SRZN-160 M8 DIN912 MIO M5 G1/8 M5 179  $6H7 9-M8 1 2 39 $12 &8

OAH SdH

NOJS



Parallel Gripper (3-Finger)

M Installation of sensor switch & speed controller
H Internal structure & Movement description Mounting block

Compressed air will push or press the circular piston.

Proximity sensor

Speed controller
FJSC series

Speed controller

Anodized high rigid aluminum FJSC series

alloy to reduce weight.

Sensor switch

I

Bearing rails load the base jaw, which
ensure the minimal vibration of long jaw.

Sensor switch

Y

Jaws connected to work piece.

M Holding force
Sensor switch or proximity sensor are
available. Mz
> Model Mx max. My max. Mz max. Fz max.
ode (Nm)  (Nm)  (Nm)  (Nm)
Fz =
My ;Q\ i 5 D SRZN-50 15 15 8 700
SRZN-66 50 45 35 1200
= &)
NS S SRZN-80 80 60 50 1800
- SRZN-100 100 90 75 2500
T~ SRZN-125 120 120 100 3200
Mx Q @) 0 SRZN-160 160 180 140 5000
Generate larger structural strength. High power transmission center jaws. . ) .
l Application examples Il Hose-free direct connection

By tilting the working surface, the wedge hook

) : SRZN-80
will transfer movement to side movement, 4000
and initiate the action of the three base jaws 1 5 5 Z 3200
simultaneously. ° Model Q RX RZ Y 3 8 8 oo
: L L L
Mounting — 50 M3 3 5 07 2 2 2 o
flange |4 |4 @1 ,«Q} 4 > 66 M5 5 8 1.2 3 3 3
\ ] ] G 800
N s ; 80 M5 5 8 12 z z T
] : j 100 M5 5 8 12 15 30 45 60 75 0 25 50 75 100 12
IT] . Holding position L (mm) Holding position L (mm) Holding position L (mm)
¢ RX 125 M5 5 8 12
$RZ 160 M5 5 8 12
SRZN-100 SRZN-125 SRZN-160
= = i
£ 5000 £ 5000 - 16000
8 8 ‘ z
SO T 5 6000 ! \ R 12000
) R e e S 2 a000 1 r § 8000
3 e}
R e s $ 2000 A r 4000 ! ‘ ‘ !
! ! ! ! ! ! ! ! ! ! ! !
) 25 50 75 100 125 o 32 64 96 128 160 % 40 80 120 160 200
Holding position L (mm) Holding position L (mm) Holding position L (mm)

A : Gripper open
B : Gripper close
* Blue area: Less durable performance
can be expected.

OAH SdH

NOYS



	Slide & Guide & Mini Gripper Cylinder
	3-95~3-96(MCX)
	3-97~3-102(MCFR)
	3-103~3-104(JQM)
	3-105~3-108(TRC)
	無標題-1
	無標題-2

	3-109~3-116(GC)
	頁面 1
	頁面 2
	頁面 3
	頁面 4

	3-117~3-122(HPS)
	無標題-1
	無標題-2
	無標題-3

	3-123~3-128(HYC)
	無標題-1
	無標題-2
	無標題-3


	3-129~3-134(SRGN)
	頁面 1
	頁面 2
	頁面 3

	3-135~3-138(SRZN)
	頁面 1
	頁面 2

	MCX-1007.pdf
	頁面 1

	MCFR-1007.pdf
	頁面 1
	2.pdf
	頁面 1

	3.pdf
	頁面 1


	JQM-1007.pdf
	頁面 1

	TRC-1007.pdf
	頁面 1
	2.pdf
	頁面 1


	GC-1007.pdf
	頁面 1
	頁面 2
	頁面 3
	頁面 4
	3-109~3-116(GC).pdf
	頁面 1

	3-109~3-116(GC).pdf
	頁面 1


	HPS-1007.pdf
	無標題-1
	無標題-2
	無標題-3
	3-117~3-122(HPS).pdf
	頁面 1

	3-117~3-122(HPS).pdf
	頁面 2


	HYC-1007.pdf
	無標題-1
	無標題-2
	無標題-3
	3-123~3-128(HYC).pdf
	頁面 1


	SRGN-1007.pdf
	頁面 1
	頁面 2
	頁面 3
	2.pdf
	頁面 1



